1210936 (K12n0236)

Linearized knot diagam
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o)
S
0~ M Solving Sequence
6 59->10—->6~->311-2—>1—>4—>8—>7—>12->> C3,C6,C11
Cg C5 Cip C2 €1 € Cg Cr (12

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I} = (8.50640 x 10%°u*® + 6.57905 x 10%°u*" + - - 4 6.76246 x 102 — 3.79834 x 10%,
— 8.61578 x 10%°u?® — 2.59629 x 10%5u2" 4 .- + 2.02874 x 10*"a + 4.68843 x 10?7,
u?® 4+ 2u% - —27u — 9)

I =, —u®+u +3u® —2u? +a—2u—1, ub —u® - 3u* + 203 + 2u® +u —1)

* 2 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L I} = (8.51 X 10%5u?® 4 6.58 x 10%°u?7 + ... + 6.76 x 10%%b — 3.80 x
102%%, —8.62 x 102%u28 — 2.60 x 102627 4 ... + 2.03 x 10%7a + 4.69 X
1027, u?% 4 2u?8 4 ... — 27u — 9)

(i) Arc colorings
o (1)
)
)
)

0.0424687u2® + 0.127975u2" + - - - — 7.48008u — 2.31101
0.125788u2® — 0.0972878u>" + - - - + 0.810929u + 0.561681

o= (o
(-
(
- (-
o= ()
o
(-
(C
(
(

0.0424687u* 4 0.127975u%7 + - - - — 7.48008u — 2.31101 )

as = 0.0837082u2® — 0.0256521u2” + - -- — 0.733318u + 0.174337
—0.207275u%® — 0.191732u27 + - - - + 2.88280u + 0.255414
a = 0.0856550u2% — 0.101573u2” + - - - + 1.21045u + 0.659706
0.325774u2® + 0.353500127 + - - - — 11.9004u — 3.50868
ag = 0.439150u?® — 0.368748u2" + - - - + 6.32577u + 3.34213
0.0733007u2® + 0.0609464u>" + - - - + 2.08714u — 0.768665
ag = \ —0.222818u?® — 0.235496u>" + - - - + 5.34101u + 1.86548
0.0307540u2® + 0.0680917u?" + - - - + 1.08829u — 0.755172
a7 = \0.00877248u28 4+ 0.0384206u27 + - - - + 0.630413u — 0.299831

—0.121620u28 — 0.0901590u27 + - - - + 1.67234u — 0.404292
a12 = \ —0.0856550u2® — 0.101573u2" + - - - + 1.21045u + 0.659706

(ii) Obstruction class = —1

(iii) Cusp Shapes __ _119007428794930832983364079 28 129789591268195455740025046 27 +

R 7277513301493036765913&658%}(%112411?§§38&§8&8§%§§3097413762489143J§)412411056701631913333

225415412411056701631913333 U U+ 225415412411056701631913333




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u? +39u% 4+ -+ 90u + 1
Ca,C4 P T —1du+1
c3,Cg P+ —6du+ 64
Cs, Cg, C10 WP+ B —2Tu—9
Cg,C7,C11 w24 fu—1
C12 u? + 300"+ Fut1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
! y?? — 91y + ... + 8066y — 1
C2,C4 y? —39y* + ...+ 90y — 1
c3,Cs v 4+ 39y% + ... + 49152y — 4096
s, Cy, C10 y29 — 24y28 +---—207y — 81
6, C7y C11 yP 24y 4y —1
c12 v +60y* +- - +y—1




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

u = 0.147151 4 0.9833511
a = —0.313005 — 1.1726201 | —6.51177 4 1.388641 | —2.12482 — 1.221561
b= 0.619200 — 0.9486951

u= 0.147151 — 0.9833511
a = —0.313005 4 1.1726201 | —6.51177 — 1.388641 | —2.12482 4 1.221561
b= 0.619200 + 0.9486951

u = —1.084770 + 0.2038151
a = —0.596441 4 0.5501461 | —1.04955 — 1.393921 4.85868 + 0.244331
b= 0.210937 4 1.1199901

u = —1.084770 — 0.2038151
a = —0.596441 — 0.5501461 | —1.04955 + 1.393921 4.85868 — 0.244331
b= 0.210937 — 1.1199901

u = —1.11805
a = —1.24644 0.572830 8.71570
b= 1.14578
u = —0.295538 4 0.8249391
a= 0.62455 + 1.904861 —11.35050 — 1.972321 3.18700 + 3.243591

b= —0.10295 + 1.912341

u = —0.295538 — 0.8249391
a= 0.62455 — 1.904861 —11.35050 4 1.972321 3.18700 — 3.243591
b= —0.10295 — 1.912341

u = —1.176090 + 0.2998931
a= 1.298590 4 0.500513 | —8.81715 — 1.903531 3.17087 — 0.165451
b= —0.42404 + 1.738421

u = —1.176090 — 0.2998931
a= 1.298590 — 0.5005131 | —8.81715+ 1.903531 3.17087 4- 0.165451
b= —0.42404 — 1.738421

u= 1.168350 + 0.4666261
a= 1.087240 — 0.3206331 | —3.42349 4 3.731751 3.28322 — 3.907801
b= —1.202010 — 0.2777391




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= 1.168350 — 0.4666261
= 1.087240 + 0.3206331
= —1.202010 4 0.2777391

—3.42349 — 3.731751

3.28322 + 3.907801

= 1.252040 + 0.1713801
0.450233 — 0.6736491
= —0.062273 — 1.2514501

2.49236 4+ 2.605481

8.31800 — 3.459201

= 1.252040 — 0.1713801
= 0.450233 + 0.6736491
= —0.062273 + 1.2514501

2.49236 — 2.605481

8.31800 + 3.459201

= —0.340740 + 0.6093151
= 0.408720 — 0.0649441
= —0.462808 4 0.3057671

—3.04827 — 1.572931

6.03185 + 4.013551

= —0.340740 — 0.6093151
= 0.408720 + 0.0649441

—3.04827 4 1.572931

6.03185 — 4.013551

= —1.37004 + 0.479961
= —0.322999 — 0.7040951
= —0.051255 — 1.3573501

—1.79428 — 6.656791

3.36940 + 5.844631

= —1.37004 — 0.479961
= —0.322999 + 0.7040951
= —0.051255 4 1.3573501

—1.79428 4 6.656791

3.36940 — 5.844631

= 0.66485 4+ 1.326341
= —0.493095 + 1.1383801
= 0.22459 + 2.088261

—17.4796 + 4.17041

—1.26801 — 2.811551

= 0.66485 — 1.326341
= —0.493095 — 1.1383807
= 0.22459 — 2.088261

—17.4796 — 4.17041

—1.26801 + 2.811551

= 1.47549 4 0.193941
= —0.329047 + 0.0055721

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= —0.462808 — 0.3057671
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b= 0.613243 + 0.0132721

2.92568 4 4.503211

11.83396 — 2.973991




Solutions to I}

V=1(vol + y=1C)

Cusp shape

uw= 1.47549 —0.193941
a = —0.329047 — 0.0055721
b= 10.613243 — 0.0132721

2.92568 — 4.503211

11.83396 + 2.973991

u = —1.49199
a= 0.327755
b= —0.609977

6.88521

15.7090

u= 146992+ 0.398311
a = —1.034790 + 0.4488941
b= 0.52841 + 1.782781

—5.70280 4 6.551161

6.17722 — 3.520561

uw= 146992 — 0.398311
a = —1.034790 — 0.4488941
b= 10.52841 — 1.782781

—5.70280 — 6.551161

6.17722 + 3.520561

u=0.395993
a = —0.267236
b= 10.323479

0.588961

16.9080

u = —0.143752 + 0.3018911
a = —0.41284 — 2.668701
b= —0.228813 — 0.6664911

—1.59820 — 0.736631

0.70316 + 3.712201

u = —0.143752 — 0.3018911
a = —0.41284 + 2.668701
b = —0.228813 + 0.6664911

—1.59820 + 0.736631

—0.70316 — 3.712201

u = —1.65985 + 0.540641
a= 0.892504 + 0.4571941
b= —0.59188 4- 1.841411

—10.3510 — 11.02381

2.19949 + 5.563801

u = —1.65985 — 0.540641
a= 0.892504 — 0.4571941
b= —0.59188 — 1.841411

—10.3510 4 11.02381

2.19949 — 5.563801




II.
I¥ = (b, —uS+u*+3u®—2u’+a—2u—1, ub—u’—3u*+2ud+2u’+u—1)

(i) Arc colorings

o ()

1
ag = \0

1
alg = —U2

u

a6 = \ —ud +u

W —ut =3P+ 202 +2u+1
az = 0

—u?+1
a11 = \ ¢ — 22

w? —ut —3ud + 20+ 2u+1
ag = —Uu

0
ay = —Uu

w—ut =3P+ 20 +2u+1
ay = 0

1
ag = \0

—ud 4+ 2ud +u
a7 = 5 _3ud+u

(ii) Obstruction class =1

(iii) Cusp Shapes = —u® + 4u + 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u — 1)6
C3,Cg u6
€4 (u+1)°
Cs w4 —3ut =20+ 2 —u—1
Cg, C7 W+t -2+ —u—1
Cg, C10, C12 w—uwd —3ut+ 2+ +u—1
c11 Wt +3ur 20+ 20 +u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
6
C1,C2,C4 (y_l)
€3, C8 y°
Cs5,C9, C10 y6 _ 7y5 + 17y4 _ 16y3 4 6y2 o 5y +1
C12
C6, €7, C11 Yo +5y° + 9y + 4y — 6> — By + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

u = —0.493180 4 0.5752881

a = —0.858925 — 1.001920] | —4.60518 — 1.972411 0.92955 + 2.531061
b= 0

u = —0.493180 — 0.5752881
a = —0.858925 4 1.0019201 | —4.60518 4+ 1.972411 0.92955 — 2.531061

b= 0

u= 0.483672

a= 2.06752 —0.906083 4.90820
b= 0

u = 1.52087 + 0.163101

0.650045 — 0.0697101 2.05064 + 4.592131 1.87701 — 3.610281
b= 0

u = 1.52087 — 0.163101
0.650045 + 0.0697101 2.05064 — 4.592131 1.87701 + 3.610281

b= 0

u = —1.53904

a = —0.649754 6.01515 5.47870
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ((u—1)%) (1 4 39u®® + -~ +90u + 1)
C2 (u—1)%)(u* — Tu®® + - — 1du+ 1)
c3, Cg uS(u® 4 u®® 4 - — 64u + 64)
C4 (u+ 1)) (W = 7u® + - — 14u + 1)
& (ub + u® = 3u* — 203 + 2u% —u — 1) (u® 4+ 20 + - — 27Tu — 9)
C6, C7 (u® —u® 4 3u — 2u + 2u® —u — 1)(u?® — 20 4 Fu—1)
€9, C10 (b —u® — 3u® + 20 4+ 2u® +u — 1) (u® +2u®® 4 - — 27u — 9)
c11 (b +u® + 3u* +2u® + 20 +u— 1) (W =20+ Fu—1)
C12 (u® —u® = 3u* + 2u® + 2u% +u — 1) (u® + 300" + - Fu+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 ((y = D) (> — 91y> + - - + 8066y — 1)
c2,C4 ((y = D) (y* — 399> + - + 90y — 1)
c3, C8 YO (y* + 39y + - - - + 49152y — 4096)
C5, Cg, C10 (y® —7y° + - =By 4+ 1)(y* — 249 + .- — 207y — 81)
C6, 7, C11 W45+ =y + D)y + 249> + - +y— 1)
ci2 (W° =7y + - =5y + Dy +60y* +---+y—1)
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